
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for heltallsexponenter

2 − (−2) =2 (−8) − 7 =0

(−3) − 1 =2 9 + (−2) =

7 + 6 =3 9 − (−9) =2

4 + 4 =2 3 + (−3) =3

(−8) − 6 =2 (−8) + (−6) =

8 + (−2) =3 7 − 4 =0

(−10) + 5 =2 (−7) − 2 =0

(−6) + 6 =0 (−4) + (−5) =3

(−5) + (−9) = 2 + 4 =2

(−7) + 3 =3 (−6) − 10 =
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for heltallsexponenter

2 − (−2) = 62 (−8) − 7 = (−6)0

(−3) − 1 = 82 9 + (−2) = 7

7 + 6 = 3493 9 − (−9) = 902

4 + 4 = 202 3 + (−3) = 243

(−8) − 6 = 582 (−8) + (−6) = (−14)

8 + (−2) = 5103 7 − 4 = (−3)0

(−10) + 5 = 1052 (−7) − 2 = (−1)0

(−6) + 6 = 70 (−4) + (−5) = (−69)3

(−5) + (−9) = (−14) 2 + 4 = 82

(−7) + 3 = (−340)3 (−6) − 10 = (−16)
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